 EQ 2\b(x+4)-x\b(x-5)=7\b(x-8) 
 EQ 2\b(x+4)-x\b(x-5)-7\b(x-8)=0 
 EQ \b(2x+8)-\b(x\s\up8(2)-5x)-\b(7x-56)=0 
 EQ 2x+8-x\s\up8(2)+5x-7x+56=0 
 EQ 64-x\s\up8(2)=0 
 EQ -x\s\up8(2)+64=0 
 EQ -x\s\up8(2)=-64 
 EQ x\s\up8(2)=64 
 ответ:  EQ x=-8\;x=8 .
 EQ 6x\s\up8(2)+x\s\up8(2)-1=0 
 EQ 7x\s\up8(2)-1=0 
 EQ 7x\s\up8(2)=1 
 EQ x\s\up8(2)=1:7 
 EQ x\s\up8(2)=\f(1;7) 
 ответ:  EQ x=-\f(\r(7);7)\;x=\f(\r(7);7) .

 EQ \f(2x\s\up8(2)+5x-7;x\s\up8(2)-8x+7) =

Разложим числитель и знаменатель дроби на множители.

= EQ  \f(\b(2x+7)\b(x-1);\b(x-7)\b(x-1)) = EQ  \f(2x+7;x-7) 
